Receiving Bits Using a PIC

int bitin(){  




//function to read a bit

static int oldstate;  



//oldstate retained between runs of this function

int k;


for (k=0;k<121;k++){ 

//this loop allows 838 us to go by. 







// If no state change, bit is 1

   


if (input(rcvPin) != oldstate){   
//if state has changed




oldstate = input(rcvPin);  
//update oldstate




delay_us(430); 

// move to halfway thru the next bit




return 0;  


//return 0 if state changed

   
    
 }


   
}



return 1;  




//return 1 if state did not change

}

Looking for the First Flag

int cbyte = 0;       



//initialize

while (cbyte != 0x7e){  


//find the first flag


shift_right(&cbyte,1,bitin());  
//add a new bit to the left of cbyte, 








//discard right bit

 }  

output_high(LED);  



//turn on the DCD light

Get All the Other Flags

int i;

int bte[40];

While (cbyte = = 0x7e){  


//find the other flags


for(i=0;i<8;i++){


//repeat this 8 times



shift_right(&cbyte,1,bitin()); 
//add a new bit to the left of cbyte, 








//discard right bit

        
}






}






//end of while - now at end of all the flags

bte[0] = cbyte; 



//you've now got the first address byte








//put received data in bte[ ] array

Get the Rest of the Transmitted Data

int test, newbit, numbyte, ones; 

test =0;

numbyte = 1;





 //we already collected 1 byte

while (test != 1){ 




 //do this until the flag at the end of the packet


for(i=0;i<8;i++){



 //repeat 8 times to collect 8 bits



newbit = bitin();


 
 //get a bit



if (newbit = = 1) (ones++);  

 //increment the ones counter




   else (ones = 0);


 //if bit is a zero, reset the ones counter



if (ones = = 5) {  



//removes bit stuffing




test = bitin();  


//get the next bit but don’t add it to cbyte




ones = 0; 



//reset the ones counter



}



shift_right(&cbyte,1,newbit);               
//append the new bit to cbyte


}






//end of for


if (test = = 0){



bte[numbyte] = cbyte;


//add cbyte to the array



numbyte++;



//increment the number of received bytes


}

}

Computing the FCS

if (fcscheck()) (printout());

short fcscheck(){  




//checks the fcs

int i,k,bt,inbyte, fcslo, fcshi;

    fcslo=fcshi=0xFF;




//intialize FCS values

    for (i = 0;i<(numbyte-2);i++){


//calculate the FCS for all except the last 2bytes


inbyte = bte[i];


for(k=0;k<8;k++){



//perform this procedure for each bit in the byte



bt = inbyte & 0x01;



#asm




//embedded assembly language route to do a 16  



BCF    03,0



//bit rotate

   


RRF    fcshi,F    

   


RRF    fcslo,F



#endasm

   

if (((status & 0x01)^(bt)) ==0x01){


           

fcshi = fcshi^0x84;

           

fcslo = fcslo^0x08;

        

}





//end of if



rotate_right(&inbyte,1);         

//set up to do the next bit


}






//end of for

   }

   fcslo = fcslo^0xff;

   fcshi = fcshi^0xff;

   if ((bte[numbyte-1] == fcshi) && (bte[numbyte-2] == fcslo)) {


return 1;

   }


        else return 0;




//if the computed values equal the last 2 data bytes

}







//return a 1, otherwise return a 0

